This electronic collection of documents is provided for the convenience of the user and is Not a Certified Document -

The documents contained herein were originally issued and sealed by the individuals whose names and license numbers appear on each page, on the dates appearing with their signature on that page. This file or an individual page shall not be considered a certified document.



state N.C.	STATE PROJECT REFEREN	ice no. 8 1
STATE PROJ. NO.	F. A. PROJ. NO.	DESCRIPTION
46045.1.1	BRZ–1849(1)	P.E.
46045.2.FD1	BRZ-1849(1)	R/W & UTIL.
46045.3.D1	BRZ-1849(1)	CONST.



Prepared in th DIVISION OF STRUCTURES MAI 1000 BIRCH RALEIGH,	he Office of: HIGHWAYS NAGEMENT UNIT RIDGE DR. N.C. 27610
NDARD SPECIFICATIONS	
TE : NOVEMBER 17, 2015	J.M. BAILEY, P.E. PROJECT ENGINEER
	K.W. ALFORD, P.E. PROJECT DESIGN ENGINEER





						T ()ΤΔ	AL B]	ILL	OF	MATERI	AL							
	REMOVAL OF EXISTING STRUCTURE	PDA TESTING	UNCLASSIFIED STRUCTURE EXCAVATION	CLASS A CONCRETE	BRIDGE APPROACH SLABS	REINFORCING STEEL	HP STE	12 X 53 EL PILES	HP GAL STE	14 X 73 VANIZED EL PILES	STEEL PILE POINTS	PILE REDRIVES	VERTICAL CONCRETE BARRIER RAIL	RIP RAP CLASS B	RIP RAP CLASS II (2'-O" THICK)	GEOTEXTILE FOR DRAINAGE	ELASTOMERIC BEARINGS	3'-(PRE C(COR	D″X 1'-9" STRESSEI DNCRETE ED SLABS
	LUMP SUM	EACH	LUMP SUM	CU.YDS.	LUMP SUM	LBS.	NO.	LIN.FT.	NO.	LIN.FT.	EACH	EACH	LIN.FT.	TONS	TONS	SQ. YDS.	LUMP SUM	No.	LIN.FT.
SUPERSTRUCTURE					LUMP SUM								180.75				LUMP SUM	33	990.0
END BENT 1				14.2		2115	7	350.0			7	4		22	87	100			
BENT 1				10.7		2136			8	440.0	8	4							
BENT 2				10.7		2136			8	440.0	8	4							
END BENT 2				14.2		2115	7	350.0			7	4		17	74	85			
TOTAL	LUMP SUM	1	LUMP SUM	49.8	LUMP SUM	8502	14	700.0	16	880.0	30	16	180.75	39	161	185	LUMP SUM	33	990.0

HYDRAULIC DATA

DESIGN DISCHARGE	= 850 C.F.S.
FREQUENCY OF DESIGN FLOOD	= 25 YRS.
DESIGN HIGH WATER ELEVATION	= 34.0 FT.
DRAINAGE AREA	= 7.7 SQ. MI
BASE DISCHARGE (0100)	= 1,300 C.F.S
BASE HIGH WATER ELEVATION	= 35.0 FT.

DRAWN BY :	D. SHACKELFORD	DATE :01/15
CHECKED BY :	J.P. ADAMS	DATE : 02/15
		23-SEP-2015 09:26

R:\Structures\Plans\Gen_draw\B-5331_SD_GD.dgn

NOTES

ASSUMED LIVE LOAD = HL-93 OR ALTERNATE LOADING

THIS BRIDGE HAS BEEN DESIGNED IN ACCORDANCE WITH THE AASHTO LRFD BRIDGE DESIGN SPECIFICATIONS.

THIS BRIDGE IS LOCATED IN SEISMIC ZONE 1.

THIS BRIDGE SHALL BE CONSTRUCTED USING TOP-DOWN CONSTRUCTION METHODS. THE USE OF TEMPORARY CAUSEWAY OR WORK BRIDGE IS NOT PERMITTED.

FOR OTHER DESIGN DATA AND GENERAL NOTES. SEE SHEET SN.

FOR SUBMITTAL OF WORKING DRAWINGS, SEE SPECIAL PROVISIONS.

FOR FALSEWORK AND FORMWORK, SEE SPECIAL PROVISIONS.

FOR CRANE SAFETY, SEE SPECIAL PROVISIONS.

FOR GROUT FOR STRUCTURES, SEE SPECIAL PROVISIONS.

THE CONTRACTOR SHALL PROVIDE INDEPENDENT ASSURANCE SAMPLES OF REINFORCING STEEL AS FOLLOWS: FOR PROJECTS REQUIRING UP TO 400 TONS OF REINFORCING STEEL, ONE 30 INCH SAMPLE OF EACH SIZE BAR USED, AND FOR PROJECTS REQUIRING OVER 400 TONS OF REINFORCING STEEL. TWO 30 INCH SAMPLES OF EACH SIZE BAR USED. THE BARS FROM WHICH THE SAMPLES ARE TAKEN MUST THEN BE SPLICED WITH REPLACEMENT BARS OF THE SIZE AND LENGTH OF THE SAMPLE, PLUS A MINIMUM LAP SPLICE OF THIRTY BAR DIAMETERS. PAYMENT FOR THE SAMPLES OF REINFORCING STEEL SHALL BE CONSIDERED INCIDENTAL TO VARIOUS PAY ITEMS.

IN AS MUCH AS THE PAINT SYSTEM ON THE EXISTING STRUCTURAL STEEL CONTAINS LEAD. THE CONTRACTOR'S ATTENTION IS DIRECTED TO ARTICLE 107-1 OF THE STANDARD SPECIFICATIONS. ANY COST RESULTING FROM COMPLIANCE WITH APPLICABLE STATE OR FEDERAL REGULATIONS PERTAINING TO HANDLING OF MATERIALS CONTAINING LEADBASED PAINT SHALL BE INCLUDED IN THE BID PRICE FOR "REMOVAL OF EXISTING STRUCTURE AT STATION 15+20.00 -L-. ".

THE MATERIAL SHOWN IN THE CROSS-HATCHED AREA ON SHEET 1 OF 2 SHALL BE EXCAVATED FOR A DISTANCE OF 25 FT EACH SIDE OF THE CENTERLINE ROADWAY AS DIRECTED BY THE ENGINEER. THIS WORK WILL BE PAID FOR AT THE CONTRACT LUMP SUM PRICE FOR UNCLASSIFIED STRUCTURE EXCAVATION. SEE SECTION 412 OF THE STANDARD SPECIFICATIONS.

THE EXISTING STRUCTURE CONSISTING OF 3 SPANS, 1 @ 18'-8", 1 @ 18'-2" AND 1 @ 18'-8" WITH REINFORCED CONCRETE FLOORS WITH 1"AWS ON STEEL I-BEAMS WITH A 24'-O"CLEAR ROADWAY ON REINFORCED CONCRETE CAPS AND TIMBER PILES AND LOCATED AT THE PROPOSED STRUCTURE SHALL BE REMOVED. THE EXISTING BRIDGE IS PRESENTLY POSTED FOR A LOAD LIMIT. SHOULD THE STRUCTURAL INTEGRITY OF THE BRIDGE DETERIORATE DURING CONSTRUCTION OF THE PROPOSED BRIDGE, THE LOAD LIMIT MAY BE REDUCED AS FOUND NECESSARY DURING THE LIFE OF THE PROJECT.

OVERTOPPING FLOOD DATA

OVERTOPPING DISCHARGE _____ = 1,800+ C.F.S. FREQUENCY OF OVERTOPPING FLOOD _____ = 500+ YRS. OVERTOPPING FLOOD ELEVATION _____ = 36.5 FT.▲

▲ELEVATION TAKEN AT SAG IN ROAD @ STA.12+55 -L-

THE SUBSTRUCTURE OF THE EXISTING BRIDGE INDICATED ON THE PLANS IS FROM THE BEST INFORMATION AVAILABLE. SINCE THIS INFORMATION IS SHOWN FOR THE CONVENIENCE OF THE CONTRACTOR, THE CONTRACTOR SHALL HAVE NO CLAIM WHATSOEVER AGAINST THE DEPARTMENT OF TRANSPORTATION FOR ANY DELAYS OR ADDITIONAL COST INCURRED BASED ON DIFFERENCES BETWEEN THE EXISTING BRIDGE SUBSTRUCTURE SHOWN ON THE PLANS AND THE ACTUAL CONDITIONS AT THE PROJECT SITE.

REMOVAL OF THE EXISTING BRIDGE SHALL BE PERFORMED IN A MANNER THAT PREVENTS DEBRIS FROM FALLING INTO THE WATER. THE CONTRACTOR SHALL SUBMIT DEMOLITION PLANS FOR REVIEW AND REMOVE THE BRIDGE IN ACCORDANCE WITH ARTICLE 402-2 OF THE STANDARD SPECIFICATIONS.

THIS STRUCTURE HAS BEEN DESIGNATED IN ACCORDANCE WITH "HEC 18 - EVALUATING SCOUR AT BRIDGES".

FOR INTERIOR BENTS 1 AND 2, ONLY PARTIAL GALVANIZING OF THE PILES IS REQUIRED. SEE INTERIOR BENT SHEETS FOR REQUIRED GALVANIZED LENGTHS. PAYMENT FOR THE PARTIALLY GALVANIZED PILES WILL BE MADE UNDER THE CONTRACT UNIT PRICE FOR GALVANIZED STEEL PILES.

FOR EROSION CONTROL MEASURES, SEE EROSION CONTROL PLAN.

ASPHALT WEARING SURFACE IS INCLUDED IN ROADWAY QUANTITY ON ROADWAY PLANS.

FOR PILES, SEE GEOTECHNICAL SPECIAL PROVISIONS AND SECTION 450 OF THE STANDARD SPECIFICATIONS.

PILES AT END BENTS 1 AND 2 ARE DESIGNED FOR A FACTORED RESISTANCE OF 50 TONS PER PILE.

PILES AT BENTS 1 AND 2 ARE DESIGNED FOR A FACTORED RESISTANCE OF 90 TONS PER PILE.

DRIVE PILES AT END BENTS 1 AND 2 TO A REQUIRED DRIVING RESISTANCE OF 95 TONS PER PILE. THIS REQUIRED DRIVING RESISTANCE INCLUDES ADDITIONAL RESISTANCE FOR DOWNDRAG OR SCOUR.

DRIVE PILES AT BENTS 1 AND 2 TO A REQUIRED DRIVING RESISTANCE OF 155 TONS PER PILE. THIS REQUIRED DRIVING RESISTANCE INCLUDES ADDITIONAL RESISTANCE FOR DOWNDRAG OR SCOUR.

INSTALL PILES AT END BENTS 1 AND 2 TO A TIP ELEVATION NO HIGHER THAN 5 FT.

INSTALL PILES AT BENTS 1 AND 2 TO A TIP ELEVATION NO HIGHER THAN -5 FT.

STEEL H-PILE POINTS ARE REQUIRED FOR STEEL H-PILES AT END BENT 1, BENT 1, BENT 2 AND END BENT 2. FOR STEEL PILE POINTS, SEE SECTION 450 OF THE STANDARD SPECIFICATIONS.

THE SCOUR CRITICAL ELEVATION FOR END BENTS 1 AND 2 IS ELEVATION 18 FT. SCOUR CRITICAL ELEVATIONS ARE USED TO MONITOR POSSIBLE SCOUR PROBLEMS DURING THE LIFE OF THE STRUCTURE.

THE SCOUR CRITICAL ELEVATION FOR BENTS 1 AND 2 IS ELEVATION 15 FT. SCOUR CRITICAL ELEVATIONS ARE USED TO MONITOR POSSIBLE SCOUR PROBLEMS DURING THE LIFE OF THE STRUCTURE.

TESTING PILES WITH THE PDA DURING DRIVING.RESTRIKING OR REDRIVING MAY BE REQUIRED. THE ENGINEER WILL DETERMINE THE NEED FOR PDA TESTING.FOR PDA TESTING, SEE STANDARD SPECIFICATIONS AND FOR PILE DRIVING CRITERIA, SEE PILE DRIVING CRITERIA PROVISON.

	PROJE	CT NO.		<u>B-533</u>	1								
	U		IDU2	CC)UNTY								
	STATION: 15+20.00 -												
	SHEET 2 C)F 2											
	DEP#	STAT RTMENT	OF NORTH OF TR RALEIGH	CAROLINA ANSPORTA	TION								
NUMBERSSION	G F	ENER OR BR BRAN SR 18 SR 182	AL C IDGE CH CF 849 B 5 ANC	OVER BI OVER BI REEK ON ETWEEN SR 187	NG IG '2								
W. Al-	<u> </u>	REVIS	SIONS		SHEET NO.								
DocuSigned by:	NO. BY:	DATE:	NO. BY:	DATE:	S-2								
	1		3		TOTAL SHEETS								

18

-F245838930BF40E 9/23/2015

		LOAD AN	D RE	SIS1	ANCE	E FA(CTOR	RAT	ING	(LRF	D) SI	JMMA	ry f	OR F	PRES	TRES	SSED	CON	CRET	E GI	RDEF	۲S		
										STRE	ENGTH	I LIN	IIT ST	ГАТЕ				SE	RVICE	III	LIMI	T STA	TE	
															SHEVB							_		
															JILAN									
LEVEL		VEHICLE	WEIGHT (W) (TONS)	CONTROLLING LOAD RATING	MINIMUM RATING FACTORS (RF)	TONS = W X RF	LIVELOAD FACTORS	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (f†)	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (f†)	LIVELOAD FACTORS	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (f+)	COMMENT NUMBER
		HL-93(Inv)	N⁄A	1	1.018		1.75	0.284	2 . 53	25'	EL	12	0 . 591	1.02	25′	EL	1.2	0.80	0.284	2.34	25′	EL	12	
DESIGN		HL-93(0pr)	N⁄A		1.319		1.35	0.284	3.29	25'	EL	12	0.591	1.32	25′	EL	1.2	N/A						
		HS-20(Inv)	36.000	2	1.178	42.397	1.75	0.284	3.76	25'	EL	12	0.591	1.18	25′	EL	1.2	0.80	0.284	3.46	25′	EL	12	
RATING		HS-20(0pr)	36.000		1.527	54.959	1.35	0.284	4.87	25′	EL	12	0.591	1.53	25'	EL	1.2	N/A						
		SNSH	13.500		2.728	36.833	1.4	0.284	6.83	25′	EL	12	0.591	2.73	25′	EL	1.2	0.80	0.284	5.04	25′	EL	12	
		SNGARBS2	20.000		2.186	43.718	1.4	0.284	6.39	25′	EL	12	0.591	2.19	25′	EL	1.2	0.80	0.284	4.72	25′	EL	12	
		SNAGRIS2	22.000		2.141	47.107	1.4	0.284	6.83	25'	EL	12	0.591	2.14	25′	EL	1.2	0.80	0.284	5.04	25′	EL	12	
		SNCOTTS3	27.250		1.385	37.731	1.4	0.284	3 . 57	25'	EL	12	0.591	1.38	25′	EL	1.2	0.80	0.284	2.64	25′	EL	12	
	S S	SNAGGRS4	34.925		1.332	46.511	1.4	0.284	3.56	25'	EL	12	0.591	1.33	25′	EL	1.2	0.80	0.284	2.62	25′	EL	12	
		SNS5A	35.550		1.392	49.477	1.4	0.284	3.45	25′	EL	12	0.591	1.39	25′	EL	1.2	0.80	0.284	2.54	25′	EL	12	
		SNS6A	39.950		1.334	53.31	1.4	0.284	3.23	25'	EL	12	0.591	1.33	25′	EL	1.2	0.80	0.284	2.39	25′	EL	12	
LEGAL		SNS7B	42.000		1.344	56.455	1.4	0.284	3.23	25'	EL	12	0.591	1.34	25′	EL	1.2	0.80	0.284	2.37	25′	EL	12	
		TNAGRIT3	33.000		1.634	53 . 934	1.4	0.284	4 . 55	25'	EL	12	0.591	1.63	25′	EL	1.2	0.80	0.284	3.36	25′	EL	12	
RATING		TNT4A	33.075		1.483	49.049	1.4	0.284	3.95	25′	EL	12	0.591	1.48	25′	EL	1.2	0.80	0.284	2.92	25′	EL	12	
		TNT6A	41.600		1.398	58.138	1.4	0.284	3.71	25′	EL	12	0 . 591	1.4	25′	EL	1.2	0.80	0.284	2.74	25′	EL	12	
	ST	TNT7A	42.000		1.391	58.419	1.4	0.284	3.84	25'	EL	12	0.591	1.39	25′	EL	1.2	0.80	0.284	2.83	25′	EL	12	
		TNT7B	42.000		1.343	56.385	1.4	0.284	3.46	25′	EL	12	0.591	1.34	25′	EL	1.2	0.80	0.284	2.55	25′	EL	12	
		TNAGRIT4	43.000		1.340	57.604	1.4	0.284	3.71	25′	EL	12	0.591	1.34	25′	EL	1.2	0.80	0.284	2.73	25′	EL	12	
		TNAGT5A	45.000		1.367	61.501	1.4	0.284	3.71	25′	EL	12	0.591	1.37	25′	EL	1.2	0.80	0.284	2.73	25′	EL	12	
		TNAGT5B	45.000	3	1.239	55.766	1.4	0.284	3.65	25′	EL	9.6	0 . 591	1.24	25′	EL	1.2	0.80	0.284	2.71	25′	EL	9.6	

LRFR SUMMARY

FOR SPANS 'A' & 'C'

ASSEMBLED BY : D. CHECKED BY : J	SHACKE P. ADAI	LFORD DATE : MS DATE :	01/15 02/15
DRAWN BY : CVC CHECKED BY : DNS	6/10 6/10		

+

+

LOAD FACTORS:

DESIGN	LIMIT STATE	γ_{DC}	$\gamma_{D\mathbf{W}}$
LOAD RATING	STRENGTH I	1.25	1.50
FACTORS	SERVICE III	1.00	1.00

•

NOTES:

SEAL 29441

DocuSigned by:

-F245838930BF40E... 9/23/2015

MINIMUM RATING FACTORS ARE BASED ON THE STRENGTH I AND SERVICE III LIMIT STATES. ALLOWABLE STRESSES FOR SERVICE III LIMIT STATE ARE AS REQUIRED FOR DESIGN.

(#) CONTROLLING LOAD RATING
1 DESIGN LOAD RATING (HL-93)
2 DESIGN LOAD RATING (HS-20)
$\sqrt{3}$ LEGAL LOAD RATING **
* * SEE CHART FOR VEHICLE TYPE
GIRDER LOCATION
I – INTERIOR GIRDER EL – EXTERIOR LEFT GIRDER ER – EXTERIOR RIGHT GIRDER

PROJE(C	CT NO.	. <u> </u>	<u>-5331</u>	
STATI	ON: 1	5+20	<u>.00</u> -	
DEPA LR 25'	ARTMENT SRTMENT SFR SFR SCORE 90 N-INTE	TANDAF	NSPORTA NSPORTA RY F AB UI EW E TRAFI	TION OR NIT FIC)
NO. BY:	REVI	SIONS	DATE:	SHEET NO. S-3
1		3 4		total sheets 18

STD. NO. 21LRFR1_90S_25L

				< T < T		Ε ΕΛΟ	TOR	RVT	TNG				RYF		PRES	TRFS	SED		RET	FGT	RDFF	2				
										STRE	NGTH	I LIN	AIT ST	ΓΑΤΕ				SE	SERVICE III LIMIT STATE							
										MOMENT					SHEAR						MOMENT					
LEVEL		VEHICLE	WEIGHT (W) (TONS)	CONTROLLING LOAD RATING	MINIMUM RATING FACTORS (RF)	TONS = W X RF	LIVELOAD FACTORS	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (ft)	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (f†)	LIVELOAD FACTORS	DISTRIBUTION FACTORS (DF)	RATING FACTOR	SPAN	GIRDER LOCATION	DISTANCE FROM LEFT END OF SPAN (f†)	COMMENT NUMBER		
		HL-93(Inv)	N/A	1	1.319		1.75	0.278	1.76	40'	EL	19.5	0.549	1.32	40'	EL	1.95	0.80	0.278	1.55	40′	EL	19.5			
DESTGN	Γ	HL-93(0pr)	N/A		1.709		1.35	0.278	2.28	40′	EL	19.5	0.549	1.71	40′	EL	1.95	N/A								
LOAD	Γ	HS-20(Inv)	36.000	2	1.540	55.449	1.75	0.278	2.21	40′	EL	19.5	0.549	1.54	40′	EL	1.95	0.80	0.278	1.94	40′	EL	19.5			
RATING	Ī	HS-20(0pr)	36.000		1.997	71.878	1.35	0.278	2.86	40′	EL	19.5	0.549	2	40'	EL	1.95	N/A								
		SNSH	13.500		3.606	48.687	1.4	0.278	5.1	40′	EL	19.5	0.549	4.13	40′	EL	1.95	0.80	0.278	3.61	40′	EL	19.5			
		SNGARBS2	20.000		2.964	59 . 289	1.4	0.278	4.19	40′	EL	15.6	0.549	3.07	40′	EL	1.95	0.80	0.278	2.96	40′	EL	19.5			
		SNAGRIS2	22.000		2.906	63.929	1.4	0.278	4.09	40′	EL	15.6	0.549	2.91	40′	EL	1.95	0.80	0.278	2.92	40′	EL	15.6			
		SNCOTTS3	27.250		1.803	49.125	1.4	0.278	2.55	40′	EL	19.5	0.549	2.07	40′	EL	1.95	0.80	0.278	1.80	40′	EL	19.5			
	S S	SNAGGRS4	34.925		1.623	56.667	1.4	0.278	2.29	40′	EL	19.5	0.549	1.82	40′	EL	1.95	0.80	0.278	1.62	40′	EL	19.5			
		SNS5A	35.550		1.578	56.107	1.4	0.278	2.23	40'	EL	19.5	0.549	1.9	40'	EL	1.95	0.80	0.278	1.58	40′	EL	19.5			
		SNS6A	39.950		1.502	59.992	1.4	0.278	2.12	40'	EL	19.5	0.549	1.77	40′	EL	1.95	0.80	0.278	1.50	40′	EL	19.5			
I FGAI		SNS7B	42.000	3	1.432	60.149	1.4	0.278	2.02	40'	EL	19.5	0.549	1.81	40'	EL	1.95	0.80	0.278	1.43	40′	EL	19.5			
LOAD		TNAGRIT3	33.000		1.848	60.976	1.4	0.278	2.61	40'	EL	19.5	0.549	2.08	40'	EL	1.95	0.80	0.278	1.85	40′	EL	19.5			
RATING		TNT4A	33.075		1.872	61.901	1.4	0.278	2.65	40′	EL	19.5	0.549	1.98	40′	EL	1.95	0.80	0.278	1.87	40′	EL	19.5			
		TNT6A	41.600		1.587	66.032	1.4	0.278	2.24	40'	EL	19.5	0.549	1.94	40'	EL	1.95	0.80	0.278	1.59	40′	EL	19.5			
	ST	TNT7A	42.000		1.627	68.354	1.4	0.278	2.3	40′	EL	19.5	0.549	1.79	40'	EL	1.95	0.80	0.278	1.63	40′	EL	19.5			
		TNT7B	42.000		1.664	69.888	1.4	0.278	2.35	40′	EL	19.5	0.549	1.72	40′	EL	1.95	0.80	0.278	1.66	40′	EL	19.5			
		TNAGRIT4	43.000		1.619	69.61	1.4	0.278	2.28	40′	EL	15.6	0.549	1.65	40′	EL	1.95	0.80	0.278	1.62	40′	EL	19.5			
		TNAGT5A	45.000		1.498	67.412	1.4	0.278	2.12	40'	EL	19.5	0.549	1.71	40'	EL	1.95	0.80	0.278	1.50	40′	EL	19.5			
		TNAGT5B	45.000		1.455	65.486	1.4	0.278	2.06	40'	EL	19.5	0.549	1.56	40'	EL	1.95	0.80	0.278	1.46	40′	EL	19.5			

LRFR SUMMARY

FOR SPAN 'B'

ASSEMBLED BY : (CHECKED BY :	D.SHACKEL J.P. ADAM	FORD DATE : S DATE :	01/15 02/15
DRAWN BY : CVC CHECKED BY : DNS	6710 6710		

+

+

LOAD FACTORS:

DESIGN	LIMIT STATE	γ_{DC}	$\gamma_{\rm DW}$
LOAD RATING FACTORS	STRENGTH I	1.25	1.50
	SERVICE III	1.00	1.00

•

NOTES:

SEAL 29441

DocuSigned by:

F245838930BF40F 9/23/2015

MINIMUM RATING FACTORS ARE BASED ON THE STRENGTH I AND SERVICE III LIMIT STATES. ALLOWABLE STRESSES FOR SERVICE III LIMIT STATE ARE AS REQUIRED FOR DESIGN.

(#) CONTROLLING LOAD RATING				
1 DESIGN LOAD RATING (HL-93)				
2 DESIGN LOAD RATING (HS-20)				
$\sqrt{3}$ LEGAL LOAD RATING **				
* * SEE CHART FOR VEHICLE TYPE				
GIRDER LOCATION				
I – INTERIOR GIRDER EL – EXTERIOR LEFT GIRDER ER – EXTERIOR RIGHT GIRDER				

PROJE C STATI	CT NO. COLUN ON: 1	<u>BUS</u> BUS 5+20	<u>-5331</u> co .00 -	UNTY L-
SHEET 2 (DF 2			
DEP LF 40' (NOI	ARTMENT SRFR CORE 90 N-INTE	TE OF NORTH CAR OF TRA RALEIGH STANDAF SUMMA D SL O SK RSTATE	NSPORTA RD ABUI EW ETRAFI	TION OR NIT FIC)
	REVI	SIONS		SHEET NO.
NU. BY:	DATE:	NO. BY:	DATE:	TOTAL
2		<u>्</u>		SHEETS 18

STD. NO. 21LRFR1_90S_40L



STD. NO. 21" PCS2_33_90S



ASSEMBLED BY : D.S	P. ADAN	LFORL	DATE :	01/15
CHECKED BY : J.F		<mark>//</mark> S	DATE :	02/15
DRAWN BY : DGE	3/09	REV.	12/5/11	MAA/AAC
CHECKED BY : BCH	3/09	REV.	8/14	MAA/TMG

+



0

STD. NO. 21" PCS_33_90S_25L



²³⁻SEP-2015 09:26 R:\Structures\Plans\Super_Draw\B-5331_SD_CS_SUPER.dgn jpadams

STD. NO. 21" PCS_33_90S_40L

BILL OF MATERIAL FOR ONE	GUTTERLINE ASPHALT THICKNESS	& RAIL HEIGHT	DAR IT			NOTES
25' CORED SLAB UNIT	ASPHALT OVERLAY TH	ICKNESS RAIL HEIGHT	7″	6″	ALL PRESTRESSING STRANDS	SHALL BE 7-WIRE LOW RELAXATION GRADE
BAR NUMBER SIZE TYPE LENGTH WEIGHT LENGTH WEIGHT	@ MID-SPAN 25' UNIT 2 ⁵ /8"	@ MID-SPAN 3'-85%/8"			REQUIREMENTS WHICH SHALL SPECIFICATIONS.	BE IN ACCORDANCE WITH THE STANDARD
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	40' UNIT 2 ¹ / ₁₆ "	3'-8 ¹ / ₁₆ "		<u>ع</u> اد کی کرد 2 مالی کرد کرد 2 مالی کرد کرد	ALL REINFORCING STEEL CAS GRADE 60 AND SHALL BE INC PRESIRESSED CONCRETE CORE	T WITH THE CORED SLAB SECTIONS SHALL BE LUDED IN THE UNIT PRICE BID FOR
52 54 *4 5 5-4 192 5-4 192 * S3 34 *5 1 5'-7" 198	DEAD LOAD DEFLECTION AND CAMBER	GRADE 270 STRANDS 0.6"ØL.R.			RECESSES FOR TRANSVERSE S	TRANDS SHALL BE GROUTED AFTER THE
REINFORCING STEEL LBS. 260 260	CAMBER (SLAB ALONE IN PLACE) 1/4"	AREA (SQUARE INCHES) 0.217 ULTIMATE STRENGTH 58.600		73/4"	THE 21/2 "Ø DOWEL HOLES AT FILLED WITH NON-SHRINK GR	FIXED ENDS OF SLAB SECTIONS SHALL BE
REINFORCING STEELLBS.1985000P.S.I. CONCRETECU. YDS.3.73.73.7	DEFLECTION DUE TO SUPERIMPOSED DEAD LOAD ** 1/8" +	(LBS. PER_STRAND) S0,000 APPLIED PRESTRESS (LBS. PER_STRAND) 43,950			THE BACKER RODS SHALL CON BOND BREAKER.SEE SECTION	FORM TO THE REQUIREMENTS OF TYPE M 1028 OF THE STANDARD SPECIFICATIONS.
0.6"ØL.R. STRANDS No. 9 9	*** INCLUDES FUTURE WEARING SURFACE		<u>S1 1'-9''</u>		WHEN CORED SLABS ARE CAS EMPLOYED TO PREVENT VOID	, AN INTERNAL HOLD-DOWN SYSTEM SHALL BE S FROM RISING OR MOVING SIDEWAYS. AT LEAST
BILL OF MATERIAL FOR ONE	DEAD LOAD DEFLECTION AND CAMBER		<u>S2</u> 2'-8''	<u>S2</u>	SIX WEEKS PRIOR TO CASTI TO THE ENGINEER FOR REVIE PROPOSED HOLD-DOWN SYSTEM	NG CORED SLABS, THE CONTRACTOR SHALL SUBMI W AND COMMENT, DETAILED DRAWINGS OF THE M. IN ADDITION TO STRUCTURAL DETAILS,
40' CORED SLAB UNIT	CAMBER (SLAB ALONE IN PLACE) 7/8"		3	1,-3,,	LOCATION AND SPACING OF ALL REINFORCING STEEL IN	THE HOLD-DOWNS SHALL BE INDICATED.
BAR NUMBER SIZE TYPE LENGTH WEIGHT LENGTH WEIGHT B4 4 #4 STR 20'-9" 55 20'-9" 55	DEFLECTION DUE TO SUPERIMPOSED DEAD LOAD ** 1/8" +		ALL BAR DIMENSIONS A	RE OUT TO OUT	SHALL BE EPOXY COATED. PRESTRESSING STRANDS SHAL	I BE CUT FLUSH WITH THE CORED SLAB UNTT
S1 8 #5 3 4'-3" 35 4'-3" 35 S2 84 #4 3 5'-4" 299 5'-4" 299	FINAL CAMBER 3/4" +				ENDS.	DATING TO COPED SLAB UNIT ENDS
* S3 48 *5 1 5'-7" 280			CONCRETE RELEAS	SE STRENGTH PSI	GROOVED CONTRACTION JOIN	TS, $\frac{1}{2}$ " IN DEPTH, SHALL BE TOOLED IN ALL
REINFORCING STEEL LBS. 389 389			25' UNITS	4000	EXPOSED FACES OF THE BARF 825-10(B) OF THE STANDARD S BF LOCATED AT FACH THTRD	IER RAIL AND IN ACCORDANCE WITH ARTICLE SPECIFICATIONS.A CONTRACTION JOINT SHALL POINT BETWEEN BARRIER RAIL EXPANSION
REINFORCING STEELLBS.2805000P.S.I. CONCRETECU. YDS.5.85.8			40 UN115	4000	JOINTS. ONLY ONE CONTRACT BARRIER RAIL SEGMENTS LES	ION JOINT IS REQUIRED AT MIDPOINT OF SS THAN 20 FEET IN LENGTH AND NO
0.6" Ø L.R. STRANDS No. 13 13		BILL OF MATERIAL FO	OR VERTICAL CONCRETE	BARRIER RAIL	FEET IN LENGTH.	QUIRED FOR THUSE SEGMENTS LESS THAN IU
		BAR BARS PER PAIR OF EXTER 40' UNIT	TOR UNITS TOTAL NO. SIZE	TYPE LENGTH WEIGHT	FLAME CUTTING OF THE TRAN ALLOWED.	ISVERSE POST-TENSIONING STRAND IS NOT
		* B11 40	40 *5	STR 19'-7" 817	THE TRANSFER OF LOAD FROM SHALL BE DONE WHEN THE CO STRENGTH OF NOT LESS THAN	I THE ANCHORAGES TO THE CORED SLAB UNIT NCRETE HAS REACHED A COMPRESSIVE I THE REQUIRED STRENGTH SHOWN IN THE
<u>1′−0″</u>		* S4 96	96 #5	2 7'-2" 718	"CONCRETE RELEASE STRENGT	H" TABLE.
		CLASS AA CONCRETE	R RATI	CU.YDS. 10.2	THE PERMITTED THREADED IN	VSERTS ARE DETAILED AS AN OPTION FOR THE
					CONTRACTOR TO ATTACH FAL	SEWORK AND FORMWORK DURING CONSTRUCTION.
- #5 S4		BILL OF MATERIAL FO	OR VERTICAL CONCRETE RIOR UNITS TOTAL NO. SIZE	BARRIER RAIL	SIZED BY THE CONTRACTOR, S IN ACCORDANCE WITH SECTIONS STATNIESS STEEL THREADED	SPACED AT 4'-O"CENTERS AND GALVANIZED ON 1076 OF THE STANDARD SPECIFICATIONS. INSERTS MAY BE USED AS AN ALTERNATE.
		25' UNIT	40 *5		THE PERMITTED THREADED IN	ISERTS SHALL BE GROUTED BY THE CONTRACTOR
TABL		* B8 20 * S4 68	<u> </u>	2 7'-2" 1017	THE COST OF THE PERMITTED) THREADED INSERTS SHALL BE INCLUDED IN
	$\begin{array}{c c} 2^{1}/2^{"} \\ 2^{"} \\ 2^{"} \\ \end{array}$	* EPOXY COATED REINFORCING STE		LBS. 2043	THE PRICE BID FOR THE PRE	CAST UNITS.
	AT OPEN JOINT AT BENT (THIS IS TO BE USED WHERE	CLASS AA CONCRETE TOTAL VERTICAL CONCRETE BARRIE	ER RAIL	CU.YDS.12.8LN.FT.100.50		
	CTION S-S FOAM JOINT IS NOT USED		. 2'-0"			
u ∞ · · · 2 ³ / ₈ "CL. WHEN S	S TO BE USED ONLY LIP FORM IS USED)		4-#5 S3 6″ 4-#5 S3 4 #5		NUMBER LENGTH TOTAL LENGTH	
	€ 1/2"EXP.JT.MAT'L HELD IN	<u>1'-0"</u> <u>1" 10" 1"</u> FIELD BEND —	& S4 @ & S4 @ 6″CTS. 6″CTS.	EXTERIOR C.	S. 4 25'-0" 100'-0"	
	(NOTE: OMIT EXP.JT.MAT'L) WHEN SLIP FORM IS USED)			TOTAL	18 25'-0" 450'-0" 22 550'-0"	PROJECT NO $B-5331$
				> CORED	SLABS REQUIRED	
	CHAMFER 3/4" CHAMFER 3/4"	A BAR		-#5 \$4 40' UNTT	NUMBER LENGTH TOTAL LENGTH	15+20.00 - 1 -
		#5 S3 FIELD- CUT		EXTERIOR C.	S. 2 40'-0" 80'-0" S. 9 40'-0" 360'-0"	SHEET 4 OF 5
				TOTAL	11 440'-0"	STATE OF NORTH CAROLINA
				-#5 S3 (TYP.)		DEPARTMENT OF TRANSPORTATION RALEIGH
UNIT" FOR SPACING)	CONST. JT-			>	WITH CAROLINA H	STANDARD
FI	EVATION AT FXPANSTON JOINTS		CONST. JT.		SEAL 7 29441	PRESTRESSED CONCRETE
VFRTTCAL CONCRETE RARRT	FR RATI SECTION	END_VIEW	SIDE VIEW		FILTS / W. ALTINITY	CORED SLAB UNIT
		 FND OF RATI	DFTATIS		DocuSigned by:	
ASSEMBLED BY : D.SHACKELFORD DATE : 01/15 CHECKED BY : J.P. ADAMS DATE : 02/15		<u> </u>			F245838930BF40E 9/23/2015	REVISIONS SHEET NO. NO. BY: DATE: NO. BY: DATE: S-8
DRAWN BY : DGE 5/09 CHECKED BY : BCH 6/09 REV. II/14 MAA/TMG						1 3 TOTAL 2 4 18

23-SEP-2015 09:26 R:\Structures\Plans\Super_Draw\B-5331_SD_CS_SUPER.dgn jpadams

+

+



CONCRETE RELEA	ASE STRENGTH
UNIT	PSI
25' UNITS	4000
40' UNITS	4000









STD.NO.21"PCS3_33_90S

total sheets 18



+

WITH AASHTO M111.

THE ENGINEER.)

THE GUARDRAIL ANCHOR ASSEMBLY IS REQUIRED AT ALL POINTS WHERE APPROACH GUARDRAIL IS TO BE ATTACHED TO THE END OF BARRIER RAIL.FOR POINTS OF ATTACHMENT, SEE SKETCH.

AFTER INSTALLATION, THE EXPOSED THREAD OF THE BOLT SHALL BE BURRED WITH A SHARP POINTED TOOL.

THE COST OF THE GUARDRAIL ANCHOR ASSEMBLY SHALL BE INCLUDED IN THE UNIT CONTRACT PRICE BID FOR VERTICAL CONCRETE BARRIER RAIL.

THE VERTICAL REINFORCING BARS MAY BE SHIFTED SLIGHTLY IN THE VERTICAL CONCRETE BARRIER RAIL TO CLEAR ASSEMBLY BOLTS.

THE 1 $\frac{1}{4}$ " Ø HOLES SHALL BE FORMED OR DRILLED WITH A CORE BIT. IMPACT TOOLS WILL NOT BE PERMITTED. ANY CONCRETE DAMAGED BY THIS WORK SHALL BE REPAIRED TO THE SATISFACTION OF THE ENGINEER.







+

NOTES

STIRRUPS IN CAP MAY BE SHIFTED AS NECESSARY TO CLEAR DOWELS. THE CONCRETE IN THE SHADED AREA OF THE WING SHALL BE POURED AFTER THE VERTICAL CONCRETE BARRIER RAIL IS CAST IF SLIP FORMING IS USED. FOR PILE SPLICE DETAILS, SEE SHEET 4 OF 4. FOR WING DETAILS, SEE SHEET 3 OF 4.

	PROJE	CT NO. COLUM ON: 1	[IBUS 5+20	<u>3-533</u> C().00 -	1 DUNTY -L-
	DEP	STAT ARTMENT	OF NORTH CA	AROLINA ANSPORTA	TION
NUMBER OF SSS		SUB	STRUC	TURE	
SEAL 2944I		ENE) BEN	NT 1	
MANANANANANANANANANANANANANANANANANANAN		REVIS	SIONS	1	SHEET NO.
DocuSigned by:	NO. BY:	DATE:	NO. BY:	DATE:	S-10
-F245838930BF40E 9/23/2015	า 2		<u> ৩</u>		SHEETS 18

STD.NO.EB_33_90S

<u>1'-0"</u>	2'-4"		16'-2"	
9'-3" (TYP.) (TYP.) 7'-6" (TYP.) (TYP.)		OL * S S S S S S S S S S S S S S S S S S S	• • • • (SEE DETAI (SHEET 4	<pre>>> • •) •</pre>
	◀		19'-6"	
EL. 37.17 - TOP OF WING (LEVEL) POUR #2 UPPER PART OF WINGS			→ A → #4 B3 UNDER #4 OVER PILES @ 4'- (10 REQ'D)	EL. 34, 4 B2 0″CTS.
POUR #1 CAP, LOWER PART OF WINGS & CONCRETE COLLARS EL. 32.17 BOTTOM OF CAP & WING (LEVEL)		<u>1'-O" MIN.</u> EMBEDMENT (TYP.)	2-#4 S3 - (TYP. EA. PILE)	
€ HP 12 X 53 STEEL PILES -	1	6'-0"	6'-0"	3
ASSEMBLED BY : D. SHACKELFORDDATE : 01/15 CHECKED BY : J.P. ADAMS DATE : 02/15 DRAWN BY : DGE 01/10 CHECKED BY : MKT 01/10 REV. 4/15 MAA/TMG			CONCRETE COLLAR SEE ``	FO S FOR STEEL F CORROSION PR

+

23-SEP-2015 09:26 R:\Structures\Plans\Sub_Draw\B-5331_SD_E*.dgn jpadams



ELEVATION

WINGS NOT SHOWN FOR CLARITY. OR SECTION A-A,SEE SHEET 4 OF 4. PILES NOT SHOWN IN PLAN AND ELEVATION VIEWS FOR CLARITY. ROTECTION FOR STEEL PILES DETAIL'',SHEET 4 OF 4.

NOTES

•

STIRRUPS IN CAP MAY BE SHIFTED AS NECESSARY TO CLEAR DOWELS. THE CONCRETE IN THE SHADED AREA OF THE WING SHALL BE POURED AFTER THE VERTICAL CONCRETE BARRIER RAIL IS CAST IF SLIP FORMING IS USED. FOR PILE SPLICE DETAILS, SEE SHEET 4 OF 4. FOR WING DETAILS, SEE SHEET 3 OF 4.

PROJECT NO. B-5331 COLUMBUS _ COUNTY STATION: 15+20.00 -L-SHEET 2 OF 4 STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION RALEIGH SUBSTRUCTURE TH CAR SEAL 2944I END BENT 2 ACINEER REVISIONS SHEET NO. DocuSigned by: S-11 DATE: DATE: NO. BY: BY: TOTAL SHEETS -F245838930BF40E... 9/23/2015 18

STD.NO.EB_33_90S





jpadams

+

+

S ———		BI	LL O	F MA	ATERIA	L
		FOF	R ON	NE E	ND BE	INT
\sim	BAR	NO.	SIZE	TYPE	LENGTH	WEIGHT
(2)	B1	8	# 9	1	41'-0"	1115
	B2	16	#4	STR	20'-7"	220
	B3	10	#4	STR	2'-5"	16
7'-2"						
	D1	22	# 6	STR	1'-6"	50
		24	# 1		7/ 10//	100
	HI	24	#4	2	7-10	126
	К1	12	#⊿	STR	2'-11"	23
" 2'-5" 4 ¹ /2"			•		<u> </u>	20
	S1	50	#4	3	7'-5″	248
. С НК. '	S2	50	#4	4	3'-2"	106
ヽ (4)	S3	14	#4	5	6'-6"	61
U						
1'-3'' LAP	V1	48	#4	STR	4'-8"	150
	REIN	FORCI	NG STE			
$\left(\begin{array}{c} 5 \end{array}\right)$	(FOR	ONE E	ND BE	NT)		2115 LBS.
	CLASS	S A CO	NCRET	E BREA	KDOWN	
		(FOR (DNE EN	D BENT)	
1'-8" Ø	POUR	#1 C	AP,LON F WING	NER PA	RT MILARS	12.4 C.Y.
		Ū			02270	
ΟΠΤ ΤΟ ΟΠΤ.	POUR	#2 U	PPER F	PART O	F	1.8 C.Y.
		۷۷	TING2			
END BENT 2						
P IZ X 53 STEEL PILES					re	140 0 1
		L ULAS	5 A U	UNCRE		14.2 U.T.
STEEL DTLE DOTNITS -	- 7					
SIEL FILE FUINTS -	- 1					
A						
Ī						
		Τ ΝΙ	า	F	8-533	1
	<u> </u>	<u> </u>	<u>JMB</u>	US	CO	UNTY
	.		15	+20	$\cap \cap$. I _
↓↓ S	011A10	N:	10	' <u>2</u> U		

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION RALEIGH

SUBSTRUCTURE

of ESSION

SEAL 2944

ACINEE?

-DocuSigned by: the 3. W. alford

-F245838930BF40E. 9/23/2015



	REVISIONS							
NO.	BY:	DATE:	NO.	BY:	DATE:	S-13		
1			3			TOTAL SHEETS		
2			Ą			18		

STD. NO. EB_33_90S



23-SEP-2015 09:26 R:\Structures\Plans\Sub_Draw\B-5331_SD_B*.dgn jpadams

+





23-SEP-2015 09:26 R:\Structures\Plans\Sub_Draw\B-5331_SD_B*.dgn jpadams

+





+

-BAR TYPES -





ALL BAR DIMENSIONS ARE OUT TO OUT.



	RTLL OF MATERTAL								
			FUR	UNE	BENI				
1'-3'' LAP	BAR	NO.	SIZE	TYPE	LENGTH	WEIGHT			
	B1	4	#10		3('-10"	651			
	BZ B3	4	#10 #5		35'-2"	147			
	BJ R4	8	#⊿	STR	18'-10"	101			
$\overline{3}$	85	9	#4	STR	2'-11"	18			
	D1	44	#6	STR	1'-6″	99			
'-0"Ø									
-1	S1	39	#5	2	8'-1"	329			
	S2	16	#4	3	7'-7"	81			
	U1	4	#4	4	5'-10"	16			
<u>-10″ U1</u>	U2	6	#4	4	5'-0"	20			
-0″ <u>U2</u>	U3	2	#9	4	10'-1"	69			
′-9″ <u>U3</u>									
	REINF((FOR	ORCING 2 ONE E	SIEEL BENT)			2136 LBS			
\sim	CL	ASS A	CONCRET	E BREA	KDOWN				
4)		(F	OR ONE	BENT)					
	то	TAL CL	ASS A (CONCRET	E	10.7 C.Y.			
I									
	HP	14 X ⁻	73 GALV	ANIZED	STEEL PIL	ES			
			BI	ENT 1					
	No. 8 LIN. FT. 440.0								
				STE	EEL PILE P	OINTS = 8			
	HP	14 X [·]	73 GALV	ANIZED	STEEL PIL	ES			
			BI	ENT 2					
	No	. 8		DT	LIN.F	T. 440.0			
				PI STE	EEL PILE PO	.S = 4 EA. DINTS = 8			
owels	PR(OJEC C ATIC	T NO OLUI	• <u>MBU</u> 15+2	<u>B-53</u> <u>S</u> c 20.00	<u>31</u> ounty -L-			
	כוורר	יד ז יי	7 7						
	SHEE	.1 3 01	- J						
↓		DEPA	STA RTMENT	TE OF NORTH OF T RALEI	H CAROLINA RANSPORT CH	ATION			
WINNIN CAROLAN			SUE	BSTRL	ICTURE				
SEAL 29441		BEN	t Di	ΕΤΑΙ	ILS 1	& 2			
W. ALTINI			סרעז	STONE					

REVISIONS					SHEET NO.	
N0.	BY:	DATE:	NO.	BY:	DATE:	S-16
1			3			TOTAL SHEETS
2			4			18

DocuSigned by:

F245838930BF40E... 9/23/2015

STD.NO.14"HP_BT_33_90S_<60'

23-SEP-2015 09:26 R:\Structures\Plans\Misc_draw\B-5331_SD_RR.dq jpadams	jn
---	----

ASSEMBLED BY : D. SHACKE CHECKED BY : J.P. ADAM	LFORD DATE : S DATE :	01/15 02/15
DRAWN BY : REK 1/84 CHECKED BY : RDU 1/84	REV. 5/1/06R REV. 10/1/11 REV. 12/21/11	TLA/GM MAA/GM MAA/GM

+

〔 ▼	
SHOULDER LINE NORMAL TO CAP	
	1
EL. 33.67 END BEN	<u>г</u> г 2
\rightarrow SLOPE 1 $\frac{1}{2}$:1
	— GROUND LINE
<u>2'-0''</u>	
	φz
1'-O'' MIN. EARTH BERM	
NORMAL TO CAP GEOTEXTILE -	<u> </u>





NOTES : FOR BERM WIDTH DIMENSIONS, SEE GENERAL DRAWING.

ESTIMATED QUANTITIES					
	RIP RAP CLASS II (2'-0" THICK)	RIP RAP CLASS B	GEOTEXTILE FOR DRAINAGE		
	TONS	TONS	SQUARE YARDS		
	87.0	22.0	100		
	74.0	17.0	85		

	PROJEC	CT NO.	B-	·53	31		
	COLUMBUS				CC	COUNTY	
	ςταττ	ON:	15+2	0.0)0 -L	-	
	STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION RALEIGH						
	STANDARD						
SEAL 29441	-=R	[P R/	AP (DE	TAIL	S —	
	REVISIONS SHEET NO.						
tent 3. W. alford	NO. BY:	DATE:	NO. BY: ସ୍ଥ	:	DATE:	S-1 (TOTAL	
	2		4 4			SHEETS 18	



23-SEP-2015 09:26 R:\Structures\Plans\Misc_draw\B-5331_SD_AS.dgn jpadams

STD. NO. BAS_33_90S

DESIGN DATA:

SPECIFICATIONS	A.A.S.H.T.O. (CURRENT)
LIVE LOAD	SEE PLANS
IMPACT ALLOWANCE	SEE A.A.S.H.T.O.
STRESS IN EXTREME FIBER OF	
STRUCTURAL STEEL - AASHTO M270 GRADE 36 -	20,000 LBS.PER SQ.IN.
- AASHTO M270 GRADE 50W -	27,000 LBS.PER SQ.IN.
- AASHTO M270 GRADE 50 -	27,000 LBS.PER SO.IN.
REINFORCING STEEL IN TENSION	
GRADE 60	24,000 LBS.PER SQ.IN.
CONCRETE IN COMPRESSION	1,200 LBS.PER SQ.IN.
CONCRETE IN SHEAR	SEE A.A.S.H.T.O.
STRUCTURAL TIMBER - TREATED OR	
UNTREATED - EXTREME FIBER STRESS	1,800 LBS.PER SQ.IN.
COMPRESSION PERPENDICULAR TO GRAIN OF TIMBER	375 LBS.PER SQ.IN.
EQUIVALENT FLUID PRESSURE OF EARTH	30 LBS.PER CU.FT.
	(MINIMUM)

MATERIAL AND WORKMANSHIP:

EXCEPT AS MAY OTHERWISE BE SPECIFIED ON PLANS OR IN THE SPECIAL PROVISIONS, ALL MATERIAL AND WORKMANSHIP SHALL BE IN ACCORDANCE WITH THE 2012 "STANDARD SPECIFICATIONS FOR ROADS AND STRUCTURES" OF THE N. C. DEPARTMENT OF TRANSPORTATION.

STEEL SHEET PILING FOR PERMANENT OR TEMPORARY APPLICATIONS SHALL BE HOT ROLLED.

CONCRETE:

UNLESS OTHERWISE REQUIRED ON PLANS, CLASS A CONCRETE SHALL BE USED FOR ALL PORTIONS OF ALL STRUCTURES WITH THE EXCEPTION THAT: CLASS AA CONCRETE SHALL BE USED IN BRIDGE SUPERSTRUCTURES, ABUTMENT BACKWALLS, AND APPROACH SLABS; AND CLASS B CONCRETE SHALL BE USED FOR SLOPE PROTECTION AND RIP RAP.

CONCRETE CHAMFERS:

UNLESS OTHERWISE NOTED ON THE PLANS, ALL EXPOSED CORNERS ON STRUCTURES SHALL BE CHAMFERED 3/4" WITH THE FOLLOWING EXCEPTIONS: TOP CORNERS OF CURBS MAY BE ROUNDED TO 1-1/2" RADIUS WHICH IS BUILT INTO CURB FORMS: CORNERS OF TRANSVERSE FLOOR EXPANSION JOINTS SHALL BE ROUNDED WITH A 1/4"FINISHING TOOL UNLESS OTHERWISE REQUIRED ON PLANS: AND CORNERS OF EXPANSION JOINTS IN THE ROADWAY FACES AND TOPS OF CURBS AND SIDEWALKS SHALL BE ROUNDED TO A 1/4" RADIUS WITH A FINISHING STONE OR TOOL UNLESS OTHERWISE REQUIRED ON PLANS.

DOWELS:

+

DOWELS WHEN INDICATED ON PLANS AS FOR CULVERT EXTENSIONS, SHALL BE EMBEDDED AT LEAST 12" INTO THE OLD CONCRETE AND GROUTED INTO PLACE WITH 1:2 CEMENT MORTAR.

STANDARD NOTES

ALLOWANCE FOR DEAD LOAD DEFLECTION, SETTLEMENT, ETC. IN CASTING SUPERSTRUCTURES:

BRIDGES SHALL BE BUILT ON THE GRADE OR VERTICAL CURVE SHOWN ON PLANS. SLABS, CURBS AND PARAPETS SHALL CONFORM TO THE GRADE OR CURVE. ALL DIMENSIONS WHICH ARE GIVEN IN SECTION AND ARE AFFECTED BY DEAD LOAD DEFLECTIONS ARE DIMENSIONS AT CENTER LINE OF BEARING UNLESS OTHERWISE NOTED ON PLANS. IN SETTING FORMS FOR STEEL BEAM BRIDGES AND PRESTRESSED CONCRETE GIRDER BRIDGES, ADJUSTMENTS SHALL BE MADE DUE TO THE DEAD LOAD DEFLECTIONS FOR THE ELEVATIONS SHOWN. WHERE BLOCKS ARE SHOWN OVER BEAMS FOR BUILDING UP TO THE SLAB, THE VERTICAL DIMENSIONS OF THE BLOCKS SHALL BE ADJUSTED BETWEEN BEARINGS TO COMPENSATE FOR DEAD LOAD DEFLECTIONS, VERTICAL CURVE ORDINATE, AND ACTUAL BEAM CAMBER. WHERE BOTTOM OF SLAB IS IN LINE WITH BOTTOM OF TOP FLANGES, DEPTH OF SLAB BETWEEN BEARINGS SHALL BE ADJUSTED TO COMPENSATE FOR DEAD LOAD DEFLECTION, VERTICAL CURVE ORDINATE, AND ACTUAL BEAM CAMBER.

IN SETTING FALSEWORK AND FORMS FOR REINFORCED CONCRETE SPANS, AN ALLOWANCE SHALL BE MADE FOR DEAD LOAD DEFLECTIONS, SETTLEMENT OF FALSEWORK, AND PERMANENT CAMBER WHICH SHALL BE PROVIDED FOR IN ADDITION TO THE ELEVATIONS SHOWN. AFTER REMOVAL OF THE FALSEWORK, THE FINISHED STRUCTURES SHALL CONFORM TO THE PROFILE AND ELEVATIONS SHOWN ON THE PLANS AND CONSTRUCTION ELEVATIONS FURNISHED BY THE ENGINEER.

DETAILED DRAWINGS FOR FALSEWORK OR FORMS FOR BRIDGE SUPERSTRUCTURE AND ANY STRUCTURE OR PARTS OF A STRUCTURE AS NOTED ON THE PLANS SHALL BE SUBMITTED TO THE ENGINEER FOR APPROVAL BEFORE CONSTRUCTION OF THE FALSEWORK OR FORMS IS STARTED.

REINFORCING STEEL:

ALL REINFORCING STEEL SHALL BE DEFORMED. DIMENSIONS RELATIVE TO PLACEMENT OF REINFORCING ARE TO CENTERS OF BARS UNLESS OTHERWISE INDICATED IN THE PLANS. DIMENSIONS ON BAR DETAILS ARE TO CENTERS OF BARS OR ARE OUT TO OUT AS INDICATED ON PLANS.

WIRE BAR SUPPORTS SHALL BE PROVIDED FOR REINFORCING STEEL WHERE INDICATED ON THE PLANS. WHEN BAR SUPPORT PIECES ARE PLACED IN CONTINUOUS LINES, THEY SHALL BE SO PLACED THAT THE ENDS OF THE SUPPORTING WIRES SHALL BE LAPPED TO LOCK LEGS ON ADJOINING PIECES.

STRUCTURAL STEEL:

AT THE CONTRACTOR'S OPTION, HE MAY SUBSTITUTE 7/8" Ø SHEAR STUDS FOR THE $\frac{3}{4}$ " Ø STUDS SPECIFIED ON THE PLANS. THIS SUBSTITUTION SHALL BE MADE AT THE RATE OF 3 - 7/8" Ø STUDS FOR 4 - 3/4" Ø STUDS, AND STUD SPACING CHANGES SHALL BE MADE AS NECESSARY TO PROVIDE THE SAME EQUIVALENT NUMBER OF 7/8" Ø STUDS ALONG THE BEAM AS SHOWN FOR 3/4" Ø STUDS BASED ON THE RATIO OF 3 - 7/8" Ø STUDS FOR 4 - 3/4" Ø STUDS. STUDS OF THE LENGTH SPECIFIED ON THE PLANS MUST BE PROVIDED. THE MAXIMUM SPACING SHALL BE 2'-O".

EXCEPT AT THE INTERIOR SUPPORTS OF CONTINUOUS BEAMS WHERE THE COVER PLATE IS IN CONTACT WITH BEARING PLATE, THE CONTRACTOR MAY, AT HIS OPTION, SUBSTITUTE FOR THE COVER PLATES DESIGNATED ON THE PLANS COVER PLATES OF THE EQUIVALENT AREA PROVIDED THESE PLATES ARE AT LEAST 5/16" IN THICKNESS AND DO NOT EXCEED A WIDTH EQUAL TO THE FLANGE WIDTH LESS 2"OR A THICKNESS EQUAL TO 2 TIMES THE FLANGE THICKNESS. THE SIZE OF FILLET WELDS SHALL CONFORM TO THE REQUIREMENTS OF THE CURRENT ANSI/AASHTO/AWS "BRIDGE WELDING CODE". ELECTROSLAG WELDING WILL NOT BE PERMITTED. WITH THE SOLE EXCEPTION OF EDGES AT SURFACES WHICH BEAR ON OTHER SURFACES.ALL SHARP EDGES AND ENDS OF SHAPES AND PLATES SHALL BE SLIGHTLY ROUNDED BY SUITABLE MEANS TO A RADIUS OF APPROXIMATELY 1/16 INCH OR

EQUIVALENT FLAT SURFACE AT A SUITABLE ANGLE PRIOR TO PAINTING, GALVANIZING, OR METALLIZING.

HANDRAILS AND POSTS:

METAL STANDARDS AND FACES OF THE CONCRETE END POSTS FOR THE METAL RAIL SHALL BE SET NORMAL TO THE GRADE OF THE CURB. UNLESS OTHERWISE SHOWN ON PLANS. THE METAL RAIL AND TOPS OF CONCRETE POSTS USED WITH THE ALUMINUM RAIL SHALL BE BUILT PARALLEL TO THE GRADE OF THE CURB. METAL HANDRAILS SHALL BE IN ACCORDANCE WITH THE PLANS. RAILS SHALL BE AS MANUFACTURED FOR BRIDGE RAILING. CASTINGS SHALL BE OF A UNIFORM APPEARANCE. FINS AND OTHER DEFORMATIONS RESULTING FROM CASTING OR OTHERWISE SHALL BE REMOVED IN A MANNER SO THAT A UNIFORM COLORING OF THE COMPLETED CASTING SHALL BE OBTAINED. CASTINGS WITH DISCOLORATIONS OR OF NON-UNIFORM COLORING WILL NOT BE ACCEPTED. CERTIFIED MILL REPORTS ARE REQUIRED FOR METAL RAILS AND POSTS.

SPECIAL NOTES:

GENERALLY, IN CASE OF DISCREPANCY, THIS STANDARD SHEET OF NOTES SHALL GOVERN OVER THE SPECIFICATIONS, BUT THE REMAINDER OF THE PLANS SHALL GOVERN OVER NOTES HEREON, AND SPECIAL PROVISIONS SHALL GOVERN OVER ALL. SEE SPECIFICATIONS ARTICLE 105-4.

ENGLISH JANUARY, 1990

STD. NO. SN